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Short Exam # 4 (10mins)
Student Name: ID: December 18, 2024

A three-phase 50-Hz induction motor runs at 740 r/min at no load and at 720 r/min at full load.
(a) sketch the torque-speed curve
(b) Calculate how many poles does this motor have?
(c) What is the slip at rated (full) load torque?
(d) What is the rotor speed at 1.5 times the rated load torque in rpm? Assume that, 1.5 times the rated
load is less than the pullout torque

(e) What is the rotor’s electrical frequency at 1.5 times the rated load torque?
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